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PROVISIONAL ANSWER KEY

Paper: 069 - Funtions of Electrical Inspectorate
Date of Test 18-10-2023
Question1:-Section 70 of The Electricity Act 2003 related to the constitution of
@EEMAaIsMQEX snmweaqis 2003 ear meaiglnildl @rglemo emuesa 70
A:-Central Regulatory Commission
oMMS@ ©0YeaIgd eonllauad
B:-Central Electricity Authority
omumsed meiglmild @esmadig
C:-State Regulatory Commission
MMM 60LERIQA] draaflayd
D:-Special Court
@JCMB> CHISDI
Correct Answer:- Option-B
Question2:-Which of the following is correct as per Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010.
emmsm® meiglnildl @remadigl (ryesw. seary almeEma20Q] MW Msalsled) eoweaim 2010 @@ore emlajogmawied agmosn wel?
A:-For a factory with more than 500 kW load require electrical safety officer
500 kW-@3 @s5o@b caloayss 6 an0@pdles maIglend emuad] 6oadlnud @raiwymosn
B:-For a factory with more than 250 kW load require electrical safety officer
250 kW-@3 @5ob caiooyss 6@ an0@pdles maigle 6muagl soadlmud @raiweymosny
C:-For a factory with more than 100 kW load require electrical safety officer
100 kW-@ @50 eionyss 6@ andgles el 6ruagl 8oadlmud @oaiveyaosm’
D:-None of the above
HE®W AlOFOMAIOWIMRAL)
Correct Answer:- Option-B
Question3:-Who is the competent Authority to appoint State appellate Authority?
MVeMNM @B @remodidlow mlwdeamalngs cwoninOQss @EmISIH @rREoaM?
A:-State Regulatory Commission
VLM HOYVERINA] B:alavm
B:-Honorable High Court
6NIADAIMOAIS HEDEENISTI
C:-Licensee
esairuadmil
D:-The State Government
MVLMLOIM TVREROD
Correct Answer:- Option-D
Question4:-What is the maximum permissible number of 2.5 sq.mm single core copper cables that may be drawn into a 20 mm rigid nonmetallic
conduit?
20 aoage &BWRL cMIMBOAgoale; anaiBODlealss Qrllesigenoq)m 2.5 WD agloagle MleUlUd 6B E8da|d eHMNISBHEOS ERMABHIWRIW alER0AW! agepRe af) @@oem?

A:-5
5

B:-6
6

C:-9
9

D:-10
10

Correct Answer:- Option-A
Question5:-Which is the IS on effects of current passing through the human body?
DRAUPEIEOTIEISS BSMOEAE:M HOABKD @AAOCBINMO anelEBE®d ag@os IS?
A:-8437
8437
B:-5216
5216
C:-8061
8061
D:-8091
8091
Correct Answer:- Option-A
Question6:-Restricted earth fault protection shall be provided for the generator having capacity
crllges emeogdln’ ME® ahBOB 6a0duds MicEEREMo M@:6Mo
A:-10 MVA and above
10 ageallagie @@IRgSe)
B:-5 MVA and above
5 agoallag@ie @r@legsslel
C:-1 MVA and above
1 agpoailag@e @raitegeslal
D:-All of the above
ABHE OOV
Correct Answer:- Option-D
Question7:-Which regulation of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010 governs handling of
electric supply lines and apparatus?
erums® maiglmidl @remdidlges aga Mloemaos (myeeswe 660I3y® All®EEMYA0W MIMWES msadleud) eoweainum 2010 6B Al®EEM OORIPEE DaldEEMEBBE
005300k HaQMGlon dlwalama?

A:-12
12

B:-16
16

C:-19
19

D:-24
24

Correct Answer:- Option-C
Question8:-What is the minimum factor of safety for stay wires based on the ultimate tensile strength of the wire?
QdeB0 EROYTE: OSMBESIVE LETIEL EESIMNIMAIETIQES LY AVWIHEOS Qe HOGTID NYOBH AISE:0 afDIET?
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15
2.0
2.5

3.0
Correct Answer:- Option-C
Question9:-NGR is provided in an electrical installation
8@ waigler® madqpoegmumicd NGR madeloldesmm
A:-Protection of transformer having capacity above 1MVA
1 MVA ot @50@ cwoedlges someryodadlomo musoemsme
B:-Protection of HT equipment
HT DaldEEMEIREOS TVo@BHUEMo
C:-Reducing earth resistance
QoS Joleeow.s SH:0QRM3
D:-Protection against residual current
cuoallEsom ©6QIBY® (@QDAOOBIOMDNEIQ MVESH6Mo
Correct Answer:- Option-B
Question10:-Which of the following method of protection not comes under the category of basic protection?
069 J0QIMARIGB RO Moo ABIosm @RSITLNIM aldlossQes alleonOBIm eaSoOm®?
A:-Insulation of live parts
66210f GVERSHS HBTYERIHMD
B:-Placing out of reach
£6BHOWITDo FOOW MLNdaEn®d
C:-Providing over current protective device
Mleiala)gs MM DaldoeMo M@IE:MD
D:-Providing Enclosure
af)BEgHOUB M@H:Mo
Correct Answer:- Option-C
Question11:-Head office of Bureau of Energy Efficiency is at
6n14e00 B9al af)MBH agadlauyBrilQes e Goadimy
A:-Mumbai
Qoee6N
B:-Chennai
6)2l6)6)0M
C:-Kolkotta
©EHITIEHOTO)
D:-Delhi
W@dasl
Correct Answer:- Option-D
Question12:-Recommended width of Right of Way of 110 kV OH line
110 kV OH eeairimowl #60g 60ad eimies w@aiodudlo ool
A:-18 m
18 .

B:-22 m
22 d.
C:-27m
27 al.
D:-35m
35 d.
Correct Answer:- Option-B
Question13:-Minimum insulation resistance required for an installation having nominal circuit voltage above 500V
500V-ay gesllejes monao@ mudes canviesBes eMIRIEEUTY BRAIRIAW aBQRj GOGTD DMTYERIHUM olEEows:
A:-100 Ohm
100 &0
B:-1000 Ohm
1000 e00
C:-1 M Ohm
1 ag)o 6300
D:-None of the above
QABHEI alOSIO BaRRGY
Correct Answer:- Option-C
Question14:-The Kerala Electricity (Intimation of Accidents) Rules, 2005 was formulated by
ca08 eallmid (@rama,ssengs)s myaim) QudmY, 2005 @alle:@la@
A:-Kerala State Electrical Inspectorate Department
CHOB CIRY MAIPIEHT LMWOTIRCOY QUdsa]
B:-Kerala State Electricity Regulatory Commission
eH8 eTyRg maiglmildl eoweaigd] sadflauad
C:-Govt. of Kerala
CHOS NAIOM
D:-Kerala State Electricity Board Limited
eHe8 eqyRq maiglmilgl esnoday efldlgouy
Correct Answer:- Option-C
Question15:-Minimum ground clearance required for an overhead 11 kV ABC drawn elsewhere than along or across any street is
8@ 80adeco’ 11 KV agenimiles @ryaiweypow ABQQYe SO HWDETE HVOMMY age@EIal HEO@ANRHSEWI HQROMEWI @RRIE® 26QAleseVE IR QPR
A:-4.0m
4.0 o.
B:-4.6 m
4.6 a.
C:-52m
5.2 dl.
D:-5.5m
5.5 dl.
Correct Answer:- Option-A
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Question16:-Point of commencement of supply of electricity as per Central Electricity Authority (Measures Relating to Safety and Electric Supply)
Regulation 2010 mean the point at the
emmdsod maiglrild @emodidl (ryoeemg ©6QUBY® alloeemqao®] cicwenjs Msalsle:ud) eoweaiaumd 2010 @eooe ammeguﬂ Ql®EMo @RYEEIEBIM Gl @RACNAIERM@
A:-Incoming terminal of switch gear installed by consumer
90168 TR Haig mullaf Uldlemo ems:alu’ esdalmad
B:-Incoming terminal of cut out fuse
&g @05 M§M9(§ oMd Aoy OsAAM@D
C:-Outgoing terminal of cut out fuse
&S 805 nnémﬂan@ 89560y Osdalmad
D:-Outgoing terminal of energy meter
ovden dgdlemo avgenowilu’ asdalmad
Correct Answer:- Option-A

Question17:-Electrical inspector is appointed by the appropriate Govt. under Section of The Electricity Act, 2003.
2003 ea! meiglnidl maiglen®d mBery@eo Hlodleamo oalmnow nal. EoElemo Alda] (@B,
A:-76
76
B:-82
82
C:-153
153
D:-162
162

Correct Answer:- Option-D
Question18:-Which regulation of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010 insists that the
owner shall maintain an unused overhead line in a safe mechnical condition or remove it?
emads@ maiglmilgl @remacidloes (rgeesi 060 AleEeMQY@ID NITWenls msadleud) eoweaisid 2010-6m0 «g® FREMR2ET PaleIWEITD GG BIABHAOWS HORIM
MYESHUO20Q 62Mle@d @RAMNQIG Mlamldgwecwd allen. £21QBHEI 6216QEMRM® 7

A:-71
71

B:-73
73

C:-74
74

D:-75
75

Correct Answer:- Option-D
Question19:-Chartered safety Engineer is authorized for the purpose of self-certification under
210@65W 6TVl ageailmied emlojoqmaigy GlIod qui@e MOBHESEDMGIN @P.UIle:00 Madealigen:
A:-Regulation 30 and Regulation 32
eowealuad 30, eowealnum 32
B:-Regulation 30 and Regulation 43
eowealmd 30, eoweainum 43
C:-Regulation 32 and Regulation 43
©0wealm 32, eowealnum 43
D:-Regulation 36 and Regulation 43
e0wealm 36, eoweainum 43
Correct Answer:- Option-B
Question20:-Minimum qualification required for an Electrical Safety Officer is
8O DAIGlE®T 6Mag 80adlTBE ERAILIRIW ABQNJe B:OETID CLIIWVYD®
A:-Electrical Engineering degree holder
aIRle® ageaiailedluy miaewad
B:-Electrical Engineering degree holder and 5 years' experience in operation and maintenance of electrical installation
meiglen@d agemlaildlewy enllmewodln. maiglen®d emayIeseto adammaDiaj aldaoaimaniap 5 adueED aldla@al
C:-Electrical Diploma holder and 6 years' experience in operation and maintenance of electrical installation
DaIlEn® WBa0n Gr0IUBAWQ MAIRlE@ DBIRIEEUOMBO AUBEDMODIA) aldlaoainNEmia 6 ABUSOD aldal@aye
D:-Electrical Engineering degree holder and one year experience in operation and maintenance of electrical installation
eiglen®d agsiaidlu) snilmeworln. meiglen® omayoesaeo eadommanie. aldlaoaimomtiap 8@ ABUOTD aldla@je
Correct Answer:- Option-B
Question21:-Minimum horizontal clearance in between 33 kV line and nearest part of building is
33 kV eerimiloe. 6@glsonlemo aggaje @rsEnss @ononime DsQIaes aggQje @0emm dleuallm glaommy’
A:-1.2 m
1.2 .

2 a.

Correct Answer:- Option-B
Question22:-A clear space of not less than shall be provided in front of switch board.
aollyf esniodawsley gamlad @ SHOWIOD QAUBODOW EDSo M@IE6Mo
A:-0.5 meter
0.5 dlgad
B:-0.75 meter
0.75 diga
C:-1 meter
1 digd
D:-1.2 meter
1.2 dga
Correct Answer:- Option-C
Question23:-Class of equipment in which protection against electric shock relies on supply at SELV and in which voltage cannot exceed SELV
eIgls; caussod mlmes mueesssme SELV-ee! allomesmecn @rpwoleam. canudese SELV-@ &0lwom aldslei@m@aom palseemeasges goqy
A:-Class |
ggoany’ |
B:-Class Il
ggoav |1
C:-Class Ill
ggoany 111
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D:-None of the above
G AlOFOMAIOWIMRAGY
Correct Answer:- Option-C
Question24:-The agency enforcing The energy Conservation Act, 2001 in Kerala
GBSOV ©VBDES MoeHEM Mlwas, 2001 msajlanasmm agesmdms
A:-State Regulatory Commission
VLM HOLERIQA] B:alam
B:-Electrical Inspectorate
DRI DBOTVRHEOG
C:-ANERT
@eOMAS
D:-Energy Management Centre
agmAed aoemedoad emudad
Correct Answer:- Option-D
Question25:-Current flowing from live parts of an electrical installation to earth under fault free condition is called
6@ HEUBYD DABTRIEBHEMBO GOTVAD covenglad ml’ emdlapom @pamocicd Galoleais age:m £6QUBDWICOD allglesomoy
A:-Earth fault current
ag) @O 6an0UBg HOW
B:-Earth leakage current
ag@omy eflesned’ &0
C:-Short circuit current
[Vl (mdoe,ég“ SO
D:-Transient current
BU B2 SO
Correct Answer:- Option-B
Question26:-Which one of the following doesn't denote switchgear in Central Electricity Authority (Measures Relating to Safety and Electric Supply)
Regulation 20107
erLmds® maiglmidl aoemodidl (Tyessmoe 66016y al®eIMadD MIMbES msaisleud) eoweaiam 2010-ad @megqogmaied aullal ladem ayalafencma agamosm?
A:-Isolator
£0)eTVICRIOAR
B:-SFU
AV agod @
C:-Circuit breaker
m)(éﬁ;ég“ cEEnd
D:-Cut out
QolesE
Correct Answer:- Option-A
Question27:-Which of the following protection can be achieved by providing an MCB?
8@ MCB o@e:malges @009ajo@maiaiad og aldloss 6msomode?
A:-Over current
[ZleTGR:Nolyog
B:-Earth fault
@dleal afleal
C:-Over voltage
6830Qu@ caudesed
D:-All of the above
QHE@D AlOOMAIOWEIe
Correct Answer:- Option-A
Question28:-Which one of the following device is intended to limit transient over voltages and divert surge current?
SUTH0D G00IB CAUBESBEOS alltlmenjgEpmMEine. MudE &0 alolclyalgmaim. pegulyss aleaaimy aR@26m?
A:-RCBO
@r@adlenie
B:-Over voltage relay
8001@ eauoudese Clea
C:-AFDD
ag)agladouslous]
D:-SPD
agaylows]
Correct Answer:- Option-D
Question29:-'Central Commission' as referred in the Electricity Act, 2003 is
2003 ea! weiglnidl oo aleondudlaldesm 'earumsad e:oloumd
A:-Appellate Tribunal
@Rqflcd eﬂsmésmm'a
B:-Central Electricity Authority
emadsd maiglmilgl @oemodigl
C:-Central Electricity Regulatory Commission
emads@d maiglmildl ©oweaigd] s:edflauad
D:-State Electricity Regulatory Commission
Meu0om goeiglmilgl ©0weaIga] @:enllaumd
Correct Answer:- Option-C
Question30:-The Bureau of Energy Efficiency is created under the provisions of
6NIYEO0 6008 agBedl agadlouyaBmil ealajo@an aAIMOGWBES &l¥lanemy Tylenea)sey
A:-Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
erLms® maiglmidl @remodidl (myessmoe 66016y almeaMac® mIMbes msadleud) eoweaium 2010
B:-Kerala Electricity Supply Code, 2014
c&08 maiglrilgl Meeq| esow, 2014
C:-Energy Conservation Act 2001
©DRm TV.eHMeM Mla. 2001
D:-None of the above
QBHEI®W AlOFTDAUOWIMRRGY
Correct Answer:- Option-C
Question31:-Standard color code for neutral cable
m&smﬂ edeniiglngs quoadeanday &8ad e’
A:-Green
alg)
B:-Black

Qo]
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C:-Yellow
D610
D:-Blue
el
Correct Answer:- Option-B
Question32:-Minimum horizontal clearance in between 230 V line and nearest part of building is
230 V epaimime o6@glsonilento agqal Gosamses RINVODIMm. msailaiss
aBQQYe H:06TD TleuBIm gloomdmy
A2 m
2 d.
B:-1m
1 4.
C:-0.5m
0.5 dl.
D:-1.2 m
1.2 4.
Correct Answer:- Option-D
Question33:-Which of the following is not used for earth leakage protection?
©96¢ alOQMAUDI@B @@ G2 .210B 2] TVEBUEMOTIMI] PalEROUlEHICT®?
A:-MCCB
agordlonleni]
B:-RCBO
@r@adlnie
C:-RCCB
@odmimisni
D:-ELCB
eDag)@dleni]
Correct Answer:- Option-A
Question34:-Which is the IS for service lines up to and including 650 V?
650 V aseqgss mudalmy 66 0dames agagmy a@@oem?
A:-732
732
B:-8061
8061
C:-3043
3043
D:-5613
5613
Correct Answer:- Option-B
Question35:-Maximum allowable joints in a span of an overhead line.
80 80QIA60M ©6aImlem0 aClWImd @RMAIBMIVRIY aleadIW] CVMWIE:u3
A:-One
s’
B:-Two
©6ng
C:-Three
Qo'
D:-Joints are not allowed
mrleud @rmacrioag)
Correct Answer:- Option-A
Question36:-Horizontal clearance required between the nearest conductor of 220 kV line and any point of building on the basis of maximum
deflection due to wind pressure is
220 kV eeaiies ARQYo ERIDES BB HFIOMO 0BG YIRss aleadAIWw] ATlaLIEBIEMO @RSIMAIMOETIG HBSISEBINMO @@ calwld@lm. msuiaes dleuallm
Floommy @6y,
A:-2.9 meter
2.9 dgad
B:-3.2 meter
3.2 digad
C:-3.5 meter
3.5 digad
D:-3.8 meter
3.8 digad
Correct Answer:- Option-D
Question37:-Which section of The Electricity Act, 2003 contains provisions for establishing National Load Dispatch Centre?
2003 ea! maiglniid @r@leal ag® Qldafansm moaemad caioay Al e emu@d@ mundalesmailnegs aiaimungud @osarlaldesmo?

A:-67
67

B:-57
57

C:-42
42

D:-26
26

Correct Answer:- Option-D
Question38:-EHT means voltage above
EHT agmod A&Elaiss cRUdESE aflaMIE @RAMORIEBAND.

A:-11 kV
11 kV

B:-150 kV
150 kV

C:-220 kV
220 kV

D:-400 kV
400 kV

Correct Answer:- Option-B
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Question39:-Minimum underground depth required for laying of 33 kV cable is
33 kV e@enilud mundalesmain’ @@ a@gaje :060m GUVAE @B
A:-0.75m
0.75 d.
B:-0.9 m
0.9 .
C:-1.05m
1.05 an.
D:-1.2m
1.2 a.
Correct Answer:- Option-C
Question40:-Guarding required where lines of voltage not exceeding
@ &SOOD CUIUBESE OORIMEB:UB BT COIGWI OMTBEUD @rﬂqdﬁ,smc(moaa SHOQUTD @RYUUDYDOETT.
A:-11 kV
11 kV
B:-33 kV
33 kV
C:-66 kV
66 kV
D:-110 kV
110 kV
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

cross a road or street.

Question41:-Enquires in connection with electrical accidents are conducted by Electrical Inspector under which section of The Electricity Act, 2003.
2003 ear eiglmid @oglemo ago Aldaf @00 DI DBOTYRE HOAIGYD ERAISSERERIW] MITMWENS GREMIHIMEIRL3 MSEDMNE?

A:-Section 181
Qo] 181
B:-Section 163
Qida] 163
C:-Section 162
Qda] 162
D:-Section 161
Q] 161
Correct Answer:- Option-D

Question42:-There shall be no tapping of another transmission line from the main line for

TV HORIMHUBL (JWIM 6ORIMI@ Moy 269 SIMBMYlaid HeRIMI@ Soafloul alosley.
A:-650 V and above
650 V qp arcilegegley
B:-11 kV and above
11 kV oo aecimngsglay
C:-33 kV and above
33 kV @ endlmgeslaj
D:-66 kV and above
66 kV @ erclmgsga.
Correct Answer:- Option-D

class of lines.

Question43:-Under which section of The Electricity Act, 2003 states any generating company may establish a generating station without obtaining

license if it complies with the technical standard.

2003 ea! meaiglnild @r@lemo «g@ aigaflay @ldlaem, mvoesoile allaine. aalssemelcd, eeRITMM aIEENIO® @O, gedEIal BMEOFluY BMIMIEY 8@ BMEOlyY GrHd

MN0aflE06a0m aloQmM@?
A:-Section 3
Q] 3
B:-Section 5
Q@af 5
C:-Section 7
Q] 7
D:-Section 6
Qi@a] 6
Correct Answer:- Option-C

Question44:-Which one of the following requirement is mandatory for a main switch installed for a 3 phase connection?

3 €an0Y @EeMeHmoe] MO 621Q &G EAWIM TVlllaY @OV ERABEGSIM BT WldsmwacsT

A:-Differential Protection
WlanOMauy®3 6@oseHd
B:-Over current protection
mlelalleigs meeeusmMomiT geglod
C:-Earth fault protection
@alfleal alleal muceememoe
D:-Residual current protection
cwadlEenmm mleiafleal meeeseMo
Correct Answer:- Option-B
Question45:-As per NEC, MCCBs are typically available up to
NEC @rmmu@lyj; MCCB-&:u avowoesmowi] QeE LI,
A:-3200 A
3200 o
B:-2500 A
2500 op)
C:-1800 A
1800 qg
D:-1200 A
1200 qf
Correct Answer:- Option-A
Question46:-Residual current device shall be conform to
cadlesmm mleifleal Oald6me @RIMY®RIWI@|ED6Mo.
A:-1S 12640
IS 12640
B:-IS 746
IS 746
C:-1S 16463
IS 16463
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D:-IS 3043
IS 3043
Correct Answer:- Option-A
Question47:-Minimum cross sectional area of copper conductor in light circuit
[Pll=Tled :m(&ﬂ;éﬁoel 6500B BEMRRHAIOMBO aBQQYo HOAT FGIM HTVSUEMTI GGl
A:-0.5 Sg.mm
0.5 andl.dll
B:-1 Sg.mm
1 analdl
C:-1.5 Sg.mm
1.5 andl.dl
D:-2.5 Sgq.mm
2.5 andl.dl
Correct Answer:- Option-C
Question48:-An isolator can't be used for the following purpose
@IHPORQRAN @RAURKOTIMNITS BB HaOMLICLIYR PalcWIUIERI &¢¥lallel
A:-Main switch for a single phase consumer
MloUTlUB GanMY DalcRIGMINIMES (WM qulla]
B:-Local isolation for motor
6226500188 @JI6RUElE: BQeST
C:-Lockable isolation for solar circuit
[Vl hIG) mrﬁ@ég’lnagg cel0ER6NNUd Bag)ETVOCRIHM
D:-Incomer of a switch board
8@ qulla) eniodlemo emdend
Correct Answer:- Option-A
Question49:-Minimum ground clearance required for 110 kV line
110 kV e6a1mlay @oaiuei20®@ aBgaje SO0 ©WDENE Gloommy
A:-6.1 meter
6.1 dgad
B:-6.4 meter
6.4 dgad
C:-6.7 meter
6.7 dgad
D:-7 meter
7 dgad
Correct Answer:- Option-A
Question50:-Polarization index is usually measured for
@alleesm myafle, MLIWIEEM@OT] @RELBMEY
A:-HV Cable
HV esenilud
B:-VCB
aflondlendl
C:-0il type transformer
&00l@d 66sq] somdemyodad
D:-Dry type transformer
00 66Sq] Somemyodad
Correct Answer:- Option-C
Question51:-Which one of the following protection is not within RCBO?
®269aj0Q aldlosueglcd agmoeny RCBO-@ mepoma?
A:-Over load protection
630QUB GRIDAW MeEEHEMo
B:-Short circuit protection
Ca0ds mxﬂoe,ég“ MVoEBHUEMo
C:-Earth leakage protection
@2 @a19B4] TVEBUEMo
D:-Surge protection
LA MVeEBH6Mo
Correct Answer:- Option-D
Question52:-Which of the following regulation can't allow any deviation by an Electrical Inspector?
©@069aJ0QIMNAURIGE RO TEDIMA0ET 6@3 DRIRlEH® DMBETYEBAES AIIM. @MAEEICD®?
A:-Regulation 16 of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
erumds® maiglmidl aremodidlges eopeaiaum 16 (myosso 66013y all®EMYadD mIMweas msaidleud) eoweaiasiad 2010
B:-Regulation 28 of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
emmds® meiglnidl aremadidlges eoweaium 28 (mesums eeary® almesmaaowl simweas Msasleu) eoweaiwmd 2010
C:-Regulation 30 of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
erums® maiglmidl aremodidlges eopeaiam 30 (myosso 66013y all®esMacD mImweas msasleud) eoweaiasad 2010
D:-Regulation 46 of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
emms® meiglnidl aremadidlges eoweaium 46 (mesuws eeary® almesmapow] IMwens Msasleu) eoweaiwm 2010
Correct Answer:- Option-C
Question53:-Earth fault protection using neutral CT shall be given to generator having capacity _ kVA and above.
kVA 9. @pailogeglaje cwales smeogdlay myscd CT 9a16@0uilaf af) 30 6Gandids HIOSEUM M@E6Mo

A:-82.5
82.5
B:-100
100
C:-125
125
D:-160
160
Correct Answer:- Option-B
Question54:-All electrical equipment shall be installed above
AR DLIFIBTE DaldOEMEBBE Bl MBTYIB ©.aIQEmo.
A:-Ground Floor Level of the nearby building
@RSIDES OBHIISOTOHMO MO el
B:-MLS
agloag)@Bag)amy’
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C:-MFL
afoag)nfag@
D:-Surrounding Road Level
Ellsllz 2} @OOW HRIQITY
Correct Answer:- Option-B
Question55:-Minimum rating of a 4 pole COS required for an electrical installation with 18 kW load to connect a 20 kVA single phase DG set is
20 kVA adlotflud ganmy’ DG eavg snicullaflesemnaiiay 18 kW sainnyss a@ meigled emaposeinuay araiwomo® 4 eatoud COS-0@ aggaje @:060m eoglouy
A:-32 A
32 op
B:-40 A
40 o)
C:-63 A
63 op
D:-100 A
100
Correct Answer:- Option-D
Question56:-Number of service line tapping per conductor at point of support shall be maximum

M6 RS 6P B BMRGAE Ml ©erId S9afulleo agepe ale@dW @RQI@|ED6Mo.
A-4
4
B:-6
6
C:-8
8
D:-10
10

Correct Answer:- Option-A
Question57:-Danger notice board shall be affixed as per
@RaIBS @RI} 6B’ ®IOPAJORQRM (@000 B3lallElensme
A:-IS 2551
IS 2551
B:-IS 8437
IS 8437
C:-IS 5216
IS 5216
D:-IS 8061
IS 8061
Correct Answer:- Option-A
Question58:-Supply of luminous tube sign installation of voltage exceeding 650 V confirm to which of the following regulation of Central Electricity
Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
650 V-® esoeaiss canudessElomo aja:owges syl eV oadayoegaum almesms, erumsm meiglmid eremoddlges (ryosy, soary almESMAYR0D] fITWENS MSalsle:ud)
60wealnum 2010-6m0 @69ajoQm og® Mloamemaosny mudldedesima?

A:-54
54

B:-32
32

C:-53
53

D:-52
52

Correct Answer:- Option-D
Question59:-Danger notice board shall be affixed on one of the following type of support of 11 kV OH line
11 kV OH eeeirieocto @aeeajoqym flajes aflamemagloanmicd @paies @odlfla] sanoda caislaflafldleso..
A:-Tubular Pole
s@srualorﬁ Galoud
B:-A Type Pole
af) ©6Sa] Galoud
C:-Wooden support
©®SloB03es allgmem
D:-Rail pole
0@ @aloUd
Correct Answer:- Option-B
Question60:-Which regulation of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010 states that no
flammable material shall be stored under the electric supply lines?
emads@ maiglmilgl @remacidloes (ryeesip ©6QIBY® oMW nITWens msalsleud) eoweeainm 2010-0m80 «g@ Mloamemacsm’ 6B Qlleeem eeei®:udas SlFlod
SIOIN AUTREOSIMo TYHHIEIM alslogimy aloQan@?
A:-35(2)
35(2)
B:-54(4)
54(4)
C:-60(5)
60(5)
D:-64(4)
64(4)
Correct Answer:- Option-D
Question61:-Minimum capacity required for a transformer proposed for an electrical installation having total connected load of 200 kW including 100
HP single motor with star delta starting with diversity factor 1.2
©6weaIFId] an0gyd 1.2 @8 @re.clenm quod ewmg@es 100 agajal miluflud 6a0s508 2udeaies 200 &leanang @M caISs B DRIRIET@ LMBROCEAUMOTS
mldequdlafldlenam somemyodadiy’ @RI aBQQle HOTID GURA
A:-315 kVA
315 kVA
B:-160 kVA
160 kVA
C:-200 kVA
200 kVA
D:-250 kVA
250 kVA
Correct Answer:- Option-A
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Question62:-Regulation 54 of Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010 applies to
emmds® meiglnidl aremadigdlges eoweaium 54 (mesuws eear almEsMayEow] IMWes Msaslen) eoweaiwm 2010 oaiay soweaosm
A:-Neon Sign
Mlewoem @RSWIS
B:-High rise building
2WAMM OBSISo
C:-X ray
ag)gs €0
D:-Lift
elog
Correct Answer:- Option-C
Question63:-'Kerala State Electricity Board Limited' has been incorporated under
'ed08 6y maiglmildl esnioday alldlgau’ @099ajoQMM @@0Ge Mewoedlaflaldlasm
A:-Kerala Electricity Supply Code, 2014
c208 maiglrildl Meeq] eeonw, 2014
B:-Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
emmds® meiglnildl aemaddl (ryesg. seary almosmayao] fmIWeqs Msasleud) eowsalm 2010
C:-The Companies Act, 1956
&I Aoz, 1956
D:-The Electricity Act, 2003
oame&mﬂ alon., 2003
Correct Answer:- Option-C

Question64:-Sanction for the installation of 250 kVA transformer is issued by the Electrical Inspector as per of Central Electricity Authority
(Measures Relating to Safety and Electric Supply) Regulation 2010.
erLms® meglmidl aremodiglges (ryoenw. 666y allmeEsMQaw] cIMWweas msadleud) eowsaium® 2010 emo (@000 aigler® pmemyed arsm 250

kVA soadearyodad munoalasmaitogs Gomad] Mmoo,
A:-Regulation 32
©0weelum 32
B:-Regulation 43
©0wealuad 43
C:-Regulation 63
eoweelum 63
D:-Regulation 54
e0wealuad 54
Correct Answer:- Option-B
Question65:-Minimum accuracy class of 11 kV TOD meter as per Central Electricity Authority (Installation and operation of Meters) Regulation 2006.
oM@ gaiglrild @emodigl (m’lgq&bges DMBIROEBUM. @AUBGMA) G0l 2006 @®dee. 11 KV TOD digdlemo aggaj @:06mm &@@ gomy
A:-05S
0.5S

Correct Answer:- Option-A
Question66:-Which one of the following condition is not necessary for the parallel operation of transformers?
SOMETROBAQBEOS AIOERIB E0aJEOHUM BOOPaOQYAN aaImGSlad ag@mosn @raiwyle)?
A:-ldentical phase displacement for all transformers
ag)gjo SoMEMYIBRQH:UBER0 BEE EalIPLIQYPSS Ganmy
B:-Same capacity for all transformers
)80 SOMETRIBAQBUBER BEO drajomild]
C:-Same voltage ratio for all transformers
a)gjo SoMEMYIBAQHUBER0 66O CAIUIESE @M.
D:-Equal % impedance for all transformers
)80 SoMETRIBAQBUBER. DAly MAIM MoaflawBmY
Correct Answer:- Option-B
Question67:-Which one of the following is not considered being an automatic change over arrangement in between grid supply and DG supply?
Y almesmoniae. el aloesmaonia. oswiess @aleeemamia caa)ss @oTlea0@ 209200 BIOPaOQYMAIT o@mosN al@lnEleneqsoom®?
A:-AMF panel
AMF anmed
B:-ATS
ag)Slagany’
C:-PLC control panel
PLC dlo@msm atomad
D:-Castle key inter locking
#0Uled &5 @pd ceiodsilowy
Correct Answer:- Option-D
Question68:-Which of the following is not a 400 kV substation in Kerala?
®069aJ0QIMARIEB ag@moe edogopiad 400 KV avenleqyaumd @ogpomo?
A:-Elappully, Palakkad
n@elqd@g'l, aloelenos’
B:-Kochi East, Ernakulam
6804fl DDA, afOEMIB:So
C:-Pallippuram, Thiruvananthapuram
m@g’lqdm, OIBAUMMDJOo
D:-Ambalathara, Kasaragod
@RMIRIOMO, &HITVABEUNIUY
Correct Answer:- Option-D
Question69:-Which is the IS for a.c. Static Direct Connected Watthour Smart Meter?
ag). Ul qROFleY W@OE @MW ang@paid ayods dlgd - emo IS agomosm?
A:-IS 16444
IS 16444
B:-IS 14697
IS 14697
C:-1S 13797
IS 13797
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D:-IS 15216
IS 15216

Correct Answer:- Option-A
Question70:-Minimum safety working clearance at 110 kV side
110 kV aiogmes oggaje 0600 TYoEH0 @AM @leommy
A-4.0 m
4.0 o.
B:-4.3 m
4.3 a.
C:-3.7m
3.7 dl.
D:-4.6 m
4.6 d.
Correct Answer:- Option-C
Question71:-What is DGA stands for, in the field of power transformer
al01d soaderpodad canaieled DGA agamo@d agmmosm?
A:-Duration Gap Analysis
Q0D el @moailmilay’
B:-Dissolved Gas Analysis
awlearvaudalowy’ tgpamy @rmoeailansleny’
C:-Domain Generation Algorithm
HWIODWM LNEOHUM @OBICUNICI®o
D:-None of the above
AHEI alOFDAOWITRREY
Correct Answer:- Option-B
Question72:-Statutory horizontal clearance required in between 11 kV Arial Bunched Cable and building is
11 KV agdlmd snismicw eaeniiglio. o@glsomiiies msaia mlenomaym clevaln gloomay
A:-Nil
o
B:-0.5 m
0.5 .
C:-1.2m
1.2 d.
D:-2m
2 dl.
Correct Answer:- Option-C
Question73:-Kerala Chief Electrical Inspector and Electrical Inspectors (Power and Functions) Rules, 2013 was formulated by
6808 allaff eIRlE@d DABEOTYHA @B MalEledd LMBeMYGBR03 (aid @M atdwnum@d) rwasnw, 2013 @aled o
A:-The Govt. of Kerala
CHOESI NAIOEAM
B:-State Regulatory Commission
MUMNIM 0YERIQA B adflayd
C:-Central Electricity Authority
emmds@d maiglmilgl @remadidl
D:-Govt. of India
DA ISR
Correct Answer:- Option-A
Question74:-Every year, India observes 'National Energy conservation Day' on
a)glo QIBaHUqYe DD '6RUSlw PVBEE VoMM FlM.’ @R aldlesomaY
A:-25th January
mmaEl 25
B:-26th June
@em 26
C:-11th August
sonqy 11
D:-14th December
awloroesnid 14
Correct Answer:- Option-D
Question75:-Which of the following is not a general function of State Transmission Utility?
©@069aJ0QIMARIEB ag@oe eqyg Somdmflaund gleldlnes e adommagoom?
A:-Undertake transmission of electricity through interstate transmission system
@RMAMVMLO0M SIMBMlaum@ musallwomaniaes aame&m’l @TMOEEMo aBOYGERS
B:-To ensure development of an efficient and economical interstate transmission lines
B0RYBHUACe TLIMIOTBQYPIW @OADBTVMLAIM SIBMYlUM HOLIPBEHS AllTIMo OO
C:-To provide non-discriminatory open access to its transmission system
@p@eM0 Sodmilaim milqmyosileass’ allealaMEaCI®2I® 60qjem @REMY MM @M’
D:-Engage in the business of trading
aloe mimioqicd agdealge
Correct Answer:- Option-D
Question76:-Approximate rating of capacitor for no load compensation of 500 kVA transformer is
500 kVA somdearyodadleo 2o’ Madal@lanoeamlmomss @aomilgdlento ageesue cogluy @M.
A:-5 kVARs
5 kVARs
B:-15 kVAR
15 kVAR
C:-25 kVAR
25 kVAR
D:-35 kVAR
35 kVAR
Correct Answer:- Option-B
Question77:-Which section of The Energy Conervation Act, 2001 empowers central government to make rules for carrying out the provision of this
Act
20016ei podsm MueosHsm ClRaODIOR! aB® Qldajen) o dloacolemo aaimin msafensamaines Mlwamrud PMRIEHIM B3 MABEMITOM BRUWIE:I0eSERM®?
A:-56
56
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B:-54
54

C:-47
47

D:-46
46

Correct Answer:- Option-A
Question78:-The Composite error in % of 5P10 15VA CT is
5P10 15VA CT qes %-ee qucwogo afvos;

A:-1
1

B:-5
5

C:-10
10

D:-15
15

Correct Answer:- Option-B
Question79:-Which section of The Electricity Act, 2003 is related to the consitution of joint commission?
2003 ea1 meiglniidl ar@lon ag® Qi 6@l @:aflaemo @EMLISMQA0WS ML Sldlesmo?

A:-70
70

B:-81
81

C:-83
83

D:-84
84

Correct Answer:- Option-C
Question80:-The accounts of Central Regulatory Commission are audited by
OMMES@ HOYERIQH] HAlHOHMO GO VEMEHUB BIAWIY’ OGO
A:-Reserve Bank
dlorvdal enioess’
B:-Account General of India
ADYQYOS GRODEMNE BMNOBD
C:-Comptroller and Auditor-General of India
DS HEBESI8d @RI BoWlgd BMOT
D:-Joint Commission
MUQED HABaHMD
Correct Answer:- Option-C
Question81:-When a 110 kV line crosses another 110 kV line, what is the minimum clearance to be maintained?
e 110 kV eeei0d aegoas 110 kV eeeind @sasemiowd, dleirldenmen a@gaj &06mm ooy agamosm?
A:-3.05m
3.05 4.
B:-2.44 m
2.44 a.
C:-4.58 m
4.58 a
D:-5.49 m
5.49 a.
Correct Answer:- Option-A
Question82:-What is the minimum factor of safety for overhead lines on metal supports?
elulel) rmcndodsgaa@'kw B0AIBH0MY OOLIDBSHS aBQYe HOGOID MNYOHBUD RISE:o ag)oem’?

1.5
2.0
2.5

3.0
Correct Answer:- Option-A
Question83:-What is the minimum height to be provided for a passage behind a panel?
alomeld aflarloal 6@ aloemuedlay MESEM aBQQYe 06D OW@o agMIET?
A:-1m
1d
B:-1.2 m
124
C:-1.8 m
1.8d
D:-2m
2 d
Correct Answer:- Option-C
Question84:-Who appoints the chairperson of consumer Grievance Redressal Forum?
DalERISD alEID alBlaN0® EanIOEDIEMO 6 aldealgem rlwdesmo @ro6M?
A:-State Regulatory Commission
VLM HOYVERINA] B:alam
B:-Licensee
eeairummdl
C:-The State Government
MVLMAIM TVRBERIR
D:-Central Regulatory Commission
oTMdS® ©0YeaIgd eollauad
Correct Answer:- Option-B
Question85:-With whom an appeal is to be field against an order of Electrical Inspector?
DaIlEn®d PBOTYBQOS DOMEAIOMTIOE GREGISIET @R NS 6.16QENREY?
A:-The Chief Electrical Inspector
allad’ geiglerd ademyepd
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B:-The State Government
MULMLOIM TVAREHOAD
C:-State Regulatory Commission
VLM HOYVERIA] B:alavm
D:-The High Court
£0aNEEISOI!
Correct Answer:- Option-A
Question86:-Which section of The Electricity Act, 2003 contains provisions relating to safety and electric supply?
2003 oar ooaisyol Moacwien: «goy isnflensn Messg eEK Al®EEMARDS MIMWEeYs AlAIMNSUE Eosadlldesma?
A:-180
180
B:-161

53
Correct Answer:- Option-D
Question87:-Who is the appropriate authority for implementing Quality Control order in Kerala?
CHEBOTI GG Hemesoud 8oBWAE Msaflenesmaings p loaow @rule:0@ @RE6M?
A:-ANERT
@eMAS
B:-Energy Management Centre
agmA= aoemeioady emudad
C:-Chief Electrical Inspector
allad’ geiglerd ademypd
D:-State Regulatory Commission
MMM 60YVERIQA] d:aflayd
Correct Answer:- Option-C
Question88:-The appropriate ratio of neutral CT for stand by earth fault relay for a 500 kVA DG set is
500 kVA DG exuglmgs qpomay 666 agdom eanowds dleaig)’ mysed CT @es 9 lon @omeande
A:-50/5 A
50/5 A
B:-150/5 A
150/5 A
C:-500/5 A
500/5 A
D:-750/5 A
750/5 A
Correct Answer:- Option-B
Question89:-The Indian Electricity Rules, 1956 get repealed with the notification of
md maiglmildl gudmJ, 1956 @e9alo@an aleamoaineamIes 0GoEealge
A:-The Electricity Act, 2003
e)ameémﬂ alon., 2003
B:-Central Electricity Authority (Measures Relating to Safety and Electric Supply) Regulation 2010
erLms® maiglmidl aremodidl (myesesoe 66016y al®eIMQac MIMbES msalsleud) eoweaisuad 2010
C:-Kerala State Electricity Licensing Board Rules, 2020
c&08 6qRg maiglailgl eeeirummiluy esnioda dloasssed, 2020
D:-Kerala Electricity Supply Code, 2014
e808 maiglrilgl Meeq] eeonw, 2014
Correct Answer:- Option-B
Question90:-Current resulting from a fault of negligible impedance between a line conductor and an exposed conductive part or a protective
conductor.
BB ORI EMBEHQo DOM 2dRIB BINQY GROQYBIW BB MESU® MR ®la)es MIMYIERIR WMoaleMMIEMO CEEIB FRIFENRIGBAN GO
A:-Earth fault current
ag)BO 6a00Udg HOM
B:-Earth leakage current
ag@omy eflesned’ &0
C:-Short circuit current
Gax0ds’ m(ﬁa,ég‘ SO
D:-Transient current
BUBDOQ SO
Correct Answer:- Option-A
Question91:-Size of transformer breather pipe is
somempodad Ellomad eealafemo arlaj
A:-5 mm
5 dl.a.
B:-15 mm
15 dl.a.
C:-25 mm
25 dl.d.
D:-30 mm
30 dl.dl.
Correct Answer:- Option-B
Question92:-Which of the following is not a general function of Central Electricity Regulatory Commission?
@96 AOQRMARIB oF@m OIS mallmildl ©0YeaIgd] ®:edfl-ueMBO DAV AIBCTMASPOME
A:-Determine tariff for interstate transmission of electricity
eameémﬂcysus @B MVeMLOIM (JELHAIMOTIMES @IGlad Mlvnilende
B:-Regulate interstate transmission of electricity
oame&mﬂ@as @RAMB TVEMLAIM (JTVEEMo M ERS
C:-Specify grid code having regard to grid standard
o’ qamdeawd@an’ mucsrimulef’ GJlaw’ ed00 QUemRERS
D:-Construct, maintain and operate captive generation plant
Saidlal ®meoaum qlodl aildan Qo al@laloeil Qo (@UBOTloflEBsl 6a1Qs
Correct Answer:- Option-D
Question93:-Which of the following is not an advantage of high power factor?
©969OQMAIRIB F@EM Q@AM alid a0dlOMO @eoLmo m%am@?
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A:-Reduced losses in transformer and cables
someqyodadiaje emmigdelaje S0 Mayo
B:-Improvement in supply voltage conditions and apparatus performance
aleesm canuwdessl @eIMAIR aleEEMOTIOMO (BSMOTIRj 62.9JaFOMT3
C:-Limit earth fault current
af)BOD 6an0uds B0 aldll®eqgED S
D:-Reduction power distribution and consumption
es)me%(cﬂ Al®EEMJo alERINNe BOQE
Correct Answer:- Option-C
Question94:-Who is the competent authority to appoint Electricity Ombudsman of a state?
BB MLMLNIMETIOMO gaiglnildl sosemumpoem mlwdlerimnas coniOQes @RWE:0E @REIEN?
A:-Licensee
eeairummdl
B:-The State Government
MUeMOIM MVARERIB
C:-State Regulatory Commission
MUoMOIM 60LERIQA] draaflayd
D:-The High Court
©6aNCERISTI!
Correct Answer:- Option-C
Question95:-Which section of The Electricity Act, 2003 empowers the formation of State Electricity Regulatory Commission?
MVsmu0om eeIRyT £0weIgd el @aledlamain 2003 ear meaiglriidl GrEloR! ag®Y Q] @RWIB:I. MEBEM?

A:-62
62

B:-70
70

C:-72
72

D:-82
82

Correct Answer:- Option-D
Question96:-Which is the IS for firefighting systems in substations?
el eqyatmEBgloal @oUTlam MAlWIMEBBUBESES Oafagay ag@oem?
A:-3034
3034
B:-3646
3646
C:-3043
3043
D:-3044
3044
Correct Answer:- Option-A
Question97:-Minimum breaking strength required for conductors of single phase 2 wire LT overhead lines.
olB Ganmy 2 i@ LT soaideancuy OORIPBEOS HEMERHGRIAE EPAILIRW aFRj SHOGTID CENYSUY SO
A:-150 kg
150 &l woe
B:-250 kg
250 @)oo
C:-300 kg
300 &)W
D:-350 kg
350 @)oo
Correct Answer:- Option-A
Question98:-Which section of The Electricity Act, 2003 empowers constitution of state load dispatch centers?
2003 oe! gaiglaid] @RI a@@ Qidaoem Mmuaom eaonw’ aslryoa MM QBEes GEIMAAISNE @RWI®IEeSEDM@?

A:-18
18

B:-26
26

C:-31
31

D:-65
65

Correct Answer:- Option-C
Question99:-What is the minimum horizontal clearance for a building near to 400 kV HVDC line?
400 kV HVDC eeeidiay mudlages 6@ eaglsomlomo agqaje @:0smm oloumlim gloomay’ agamosm?
A:-5.3m
5.3 dl.
B:-6.2 m
6.2 dl.
C:-7.3m
7.3 .
D:-7.9 m
79 a
Correct Answer:- Option-B
Question100:-When a 400 kV DC line crosses 110 kV AC line each other, what is the minimum clearance to be maintained?
400 kV DC e6ei03 110 kV AC 66210 alomy@s &Sesemiod, mlairldeomen: a@gaje &06mm ooy ag@w@osm?
A:-4.71 m
4.71 A.
B:-5.32 m
5.32 dl.
C:-5.49m
5.49 .
D:-6.04 m
6.04 d.
Correct Answer:- Option-D
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